[ Efficiency vs vertpos |
~ 0.7
20.09F
g
20.08F
(8]
§0.07F--
QL
£0.06f -
0.05F--
0.04
0.03
0.02

0.0

1.0

Ratio

B O

iy
+
i
+
e

0.95L : :
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_TT__original

Efficienq —— pom_TT__cutopt-nosel

~ 0.2
TTPE: S S
[ C . . . . .
20.16------ AR LSRR R i P
> . . . . .

2 E : : : : :
JoR e A S A
(8] L . . . .
O R R S L SR
o E : : : :
O S R S L S
0.08F--- """" """" Preenees
Y S N S
| T S |

oatt—| i}

J_.\‘C_llllillllill

Ratio

T
2
;
¥

30 -20 -10 0 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~0.05

>
00.045

£ : R
71 T A S S S S

P08 6 -4 -20 2 4 6 8 10
Sim. PV z (cm)



	Contents
	Page 1


